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Cxam 1- 1

8. (15 pts) Consider the function f defined by
the graph to the right. Find each of
the following (if they exist). If they
do not exist, state so. Also
determine if the function is

continuous at the given point. Ifit & 5 4
is not continuous at the given point,

state so.

Al. f(-1) pNE A2, f(1) =\

BI. lim f(x)=0 B2. Iinqu(x)::l
x—=-1" X

Cl. lim f(x)= O C2. lir? f(x) =%
x—-1* xol*

D1 lin}]f(x) =0 D2. linllf(x) DNE

El.  Isfcontinuous E2.  Isfcontinuous
at-12 Ny at1?  No

9. (24 pts) Algebraically evaluate each of the following limits.

2 —
A, Eml TP
¥l x5~ —2

2 p—
B. lim*F*=%

=3 x +3x

4 2

C. lim——o

0 gin® 2xcos x

10. (8 pts) Find the constant a so that f(x) = {

2x+a x<l1

ax* -1 x>1

A3, @ =L

B3. lim f(x)= 2
x—27

C3.  limf(x) =L
x—2"

D3.  lim f(x) =2

E3.  Isfcontinuous
at2?  Yee

will be continuous at x = 1.



